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Note : First 15 minutes are allotted for the candidates to read the

qQuestion paper.
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Instmcttons
i) All questions are compulsory.
i) IlNustrate your answers with labelled diagrams wherever necessary.

iii) Marks allotted to each question are mentioned against it.
( TEfarwedia W )
( Multiple Choice Type Questions )
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1. Choose the correct option and write in your answer-book :
a) Genetically modified plant is/are
i) BT maize i) BT cotton
i) BT rice iv) All of these. 1
b] Which one.of the following is 1:1 false fruit ?
i) Grape | i) Mango
iiij Guava iv) Apple. 1

c¢) The number ( X ) of chromosomes in the endosperm of the

angiospermic plant is

i) 1X i) 2X

i) 3X iv) 4X. 1
d} The name of pathogen of typhoid is

i) Ascans i)  Amoeba

iii) Paramecium iv) Salmonella, 1
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( Definite Answer Type Questiong
2. & ‘wd e’ ® W g fafgn !
Q) Ju A WA AR A k2 1
n) RO U S )y & T A S 1
7 YRITEAFR S E eI T R AR e Y 2 i
¥) TFE § R w Se fee € 2 1
2. a) Write in brief 'lr; Vitro Fertilization' ( IVF ). 1
b} Which bacteria converts milk into curd ? 1
c) What is the difference between sugar of RNA and DNA ? 1
d) Who is known as the father of '‘Green Revolution' in India ? 1
¢} How many chromosomes are found in human ? 1

(g ST v - 1)

( Short Answer Type Questions - [ )
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J. w) Draw only o lnbelled dingram of a sperm of man, 2
b)  Describe Mendel's "law of dominance', 2
¢)  Write the name of first amino acid and initintion codon for the
initintion of protein synthesis. 1+1
d) Write a short note on BT cotton. 2
¢) What are active and passive immunity ? 1+1
( 9 ST w11 ). ’
({ Short Answer Type Questions - II )
4. W) wRikEr weiEt & she-amw 5 ww w amifes s 3
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4. a) Drawg clean and labelled diagram of the li[l?-C}’Clc.uf malaria parasite
3
b) Draw a labelled dingram of an ovule including embryo-sac in 2
flowering plant, 9

80033/99



S 348(CI)

Describe the role of any three micro-0rganisms in the production of

household food materials. https://www upboardonline.com 3

d) Write short notes on adaptation of desert plants and animals.

12 + 1%2

. @) TN FIEAIE 2 Ui § g & YR W fewuit fefan | 1+2
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5. a)- What is pollination ? Write a note on the types of pollination of plants.

1+2
b) Comment upon sewage treatment. 3
c) Describe any three important characteristics of population. 1+ 1+ 1

d) What is the role of RNA in protein synthesis ? 3
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6.

Comment upon e following :

n)  Plasmid vector 3
b) Apomixis | . 3
c) Biodiversity and its conscrvation. 3
d) Reccombinant DNA technology. . 3
( forge whta W)
( Long Answer Type Questions l
AAE # o e et A e fer (frgim) w et fafag | 5

qedt qreat ® AT 6 | Joi g | o 5
Comment upon any three chromosomal aberrations (syndrome) found in
humaﬁs. . _ S

OR

Describe the microsporogenesis in flowering plants with suitable diagram.

. : )
AT 3 e st Rl 3 o et v A s
Wﬁw@wﬁ?mwﬁw%ﬁaﬂl 2+3

Describe the semiconservative method of DNA replication with diagfam. 5
' OR

Write an essay on population explosion and its control Measures 5+3
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9. Give an account on Biosphere Reserves and National Parks. 25 + 2V
OR
Define menstrual cycle. Give an account on hormonal interplay during it.

2+3
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